WP
E;E
!

/

SF 6 48 57) %2 N B % BfT
=] B
E£AH ™ = IR AZE | XHEE =
mEmnH| GHER | nEE | LEE E;’;@% cEE EEERSTHEAY ALR | SBEWE
3 |puzsn sy . 4,760 4760
8H |ar—iy—zft 15,559, 15559
0F |ar—ny e . 5926 5,926
P4 Fd
108 |EgEansE 7 270,000 ’
248 |EEFRIET) 4800 4800
258 |ERIREEST) 4,000 4,9001
308 |5RFEER (B4 T 4,400 4,409’
B & 270,000 40,338] 4,760 21478 14100
2 & 270,000 40338 4760 21478 14100

¥ A4RRTRRHL TSN,



Pas = A
= ET R 3

(S 64 58%) G N B % Bifip

] =
F£/H 7 = IR AEE | ZHH&EE ==
PEwRE| GER | mak | GHE | aans| SBH s EREEHEAN ALE | EBEFE

78 |aF—#)—x& 15,552 15,552
158 |aE—hoo g 4,634 4,634
208 |5UzBILISYY 8,160 8,160
268 |EEyRIERS ) 4,900 4,900
268 |EEmE ET) 4,800 4,800
268 |ERFcHiE (R FD 4,400 4400
A &t 42 446 8,160 20,186] 14,100
2 B 270,000 82,784 12,920 41,664 28,200

¥ A4 TIRHBLTESLY,




S 64 6H7) k4 A B ® Hf o H
18 =] SRR
E£HH 73] = IRAZE | THiEE ==
wxmng| wER | suw | nEg Fﬁ%ﬁ e [RERITHBAY ASE | FBTE ses
TE; |ar—ty— 2 & . 15,552 15.559] 13(
7B |ar—hs ris - 19,868 19,868/, 141
26 A" |HEL ~ 57,005 57,095 15]"
28 B 7| iR sBAERT) . 4,800 4800] 161
288 @ E- 7)) * 4,900 4,9007 1707
28 B | 357 (8- 9 F) < 4.400| 4.400] 18}~
_ A A re -
H &t 106,615 57,095 35420 14,100
2 i 970,000| 189,399 57.005| 12,920 77,084 42,300

X A4RETIRHL TS0,



O = 5
= ET & 5
(SF 6% 7R =R N BB B o M
I ElnE
£AE| W B RASE | HdE e e . il
Frmna| TR | nEE | BER | sige| SHE IR AR AE | EEFR |ses
SH {ar—y—Af (EmH) 19,008 19,008 19
8H |aE—huuifis 7 " 1,876 1,876 20
108 “|BmEEne 970,000
208 |EEmmEs ) .4.900)] 4.900 21|
o |
30E tEiEe (BT 4,800 4,800 22
318 ‘S #i (B 5 D _4400] 4,400] 23
B it 270000| 34,984(" 20,884 14,100
= 4 e - -~ 4
g it 540,000| 224,383 57,005 12,920 97,068 56,400

¥ AARRTRBLTESEN,




A = 5
= &t R )
(%F 65 8F7) =ik N B % Efr : @
| =| SR
FAH S T Uy A%8 | ZHIZE
TEFRE WHER | mws | LRS ?gﬁ% ol EHERMHEAY AR | SBETS |sas
78 |lae—noo kg 6,814 6,814 24
8H [L\&5:815 23,100 23,100 25
278 |EFTE ERT) 4,800 4,800 26
278 |EREEER- ST 4,900 4,900 27
278 {5 R 2T 4,400 4,400 28
A &t 44014 23,100 6,814 14,100
2 &t 540,000| 268,397 57,095 36,020 104,782 70,500

>4 A4HJi'C-¥EmL’C<EéL\D



A = A
G2 &t R 5
(5% 65 9H M) =ikA N B % B : H
= | S
£HH ™ = IR A%E | ZHEE
—TrTysT é%ﬂ% ot EEEREEEAR ALE | SETH|ses
108 |BETHBIEEE=S 66,000 66,000) 29
168 |[af—AY e 3,380 3380 30
248 |ox—SLBNE -TRE 16,035 16,035 31
i
26 8 |FEsRgRiE (@D 4,800 4,800| 32
278 |sEEEE @ - 2T 4,400 4.400]| 33
208 |(E#ZFE(ER-YTD 4,900 4,900 34
H &t 99,515 16,035 3,380 80,100
2 &t 540,000| 367,912 73,130| 36,020 108.162| 150,600

X AGRRTIREL TS,




= E &

t>ﬁ$

(=F 64 10843) 2IRkEG B % Efr - H

1 FEINE

£AH moo® AR | ZE | 2 N —

HERE| FEE | mER | BER |sape| SOH e EE A ALE | BHETE|sss

687 |ar—Ar e +10,862 10,867 35
10 | B ms 270,000] |

29 B | EiEyif (8- ¥ 7) . 4900 4,900 36

308 |EiRsmEE )~ . 48007 4,800 37

308 |kan3L81LK 7 « 26,4001 26,400] 38

310, |mEgmEE- g1y . 4,400 4,400 39

A & 270,000 51.362& 26,400 10,862] 14,100

_ &
2 it 810,000’419,274‘ 73,136] 62420 119,024| 164,700

X AARRTERHL TS,



o = ;
oS ET & 5
(GF 68 1184) e 12 2 BB H4r o
B =]
FAH 75} = U A%E | XHEE ==
——r AT lenrmnlanmid s  SHERS
8 Jar—hYU RS . 41624 4162|,
118 7|ERIgs = £ . 19,8001 19,800
27 B - B4R () « 4,808 4,8001
28 B | iS58 (30 - ) -+ 4,900 4,900
L i
29 -5 - 5 7)) . 4,400 4,400
B & 38,062 ' 93,967 14106
2 i 810,000 457,336 73130 62,4200 142,986| 178.800]

X A4ERTIRHL TS0,




A = ‘
= &T PR :
(S 6F 1284) =ik N HiEa @ H
] B TS

£H/H 7| 7= URAZE | ZHiEE =

mEmRE GER | mEk | BRE | caps| SBA e —— P e
128 AaE—hoo ke . 2,605] 2,605 450
188 AYYRRILI Y . 6.800] 6,800] 461~
21 B 7| pef s (88 - & )~ - 4,900] 4,900( 47
258 mi-PEEE 4 -31,900( 31,900 agl
26 B 7| E g T - 48001 4,800 494
27H /&g (- ) . 4400( 4,400 50}
A &t 55,405 38,7001 2605 14.100]

- &
2 5 810.000| 512,741 73.130| 101,1201 145.591] 192,900t

¥ A4 TRELTESL,



A = A
= ET & 5
S 7E 1BA) =P [ 2 B w Bir o H
18 B8 sEInE
FAH A = IR A%E | ZH&E ==
mamaE| MEE | nHR | LER |gapm| 258 S uAREEUEAT ABE | EHTE |ses
10H 4af—h9o s 7 - 254 2547 51
158 |maEns 970,000]
258 -|EEignE (& S 1) . 4.900[ 4,900 52
26 A 7|t (g8 ) " 4,8001 4,800/ 53}
278 ASEE iR (8- ¥ ) ‘ 4,8001 4,800 54
B & | 270000 17.047] 0547| 14,500
- 4 L 4 A ”
2 &t 1,080,000; 529,788 73,130| 101,120 148.138| 207,400

¥ A4 TIRHLTESLY,



A = A
= ﬁ'l' rl’E p)
(&f 7F 2B4) £IR%A n B = B4 . H
1§ B sEE
£ HH 73] = IR AZE | ZHEE ==
EETRE] FER | num | GHE |comn| SEE ERERSIEMAN AN | BHERR| ree
58 |LESEIE 23,100 23,100 55
130 |[aE—h9orgs 2,777 27717 56
138 |2alva—REA4)L 3,044 3,044 57
138 |aE—mi 6,273 6,273 58
258 |EEEnEaT) 4,800 4800 59
26 8 |EEEEER- 4 T) 4,900 4,900 60
268 |SircEiEIER- 4T 4,800 4,800 61
B &t 49,694 23,100 12,094 14,500
2 i 1,080,000 579,482 73,130| 124,220 160,232} 221,900

K OAARRTIRE LTS,



Do = A
= ﬁ'l' 'I‘E 7
=% 7% 3AR) IREB N B &7 Biz - H
L fAURE
#88] ®w = WAZE | xwaE e —— . i
WEmAE TR | mER | KRR | S0 | SHB SREREEHEAN ABE | BBFL|ses
108 |eBTeusiRE=4 66,000 66,000 62
128 |ar—hyorss 3,242 3,242 63
138 |/3varyaki 17,490 17,490 64
288 |3 4,800 4,800 65
308 |E#HEEEE- ST 4,900 4,900 66
310 |EEEE- ST 4800 4,800 67
318 |- FEEE 31,900 31,900 68
A &t 133,132 31,900 20,732| 80,500
2 Bt 1,080,000 712,614 73,130| 156,120 180,964( 302,400

X OAARRTIRHEL TSN,



